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BASIC Program to draw a Schmidt’s net
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<5> FAYSLYRP

10 REM file name : sterecnet

20 REM

30 CONSOLE 0.25.0.1:SCREEN 3.0:WIDTH 80
40 REM

50 REN

60 PI=3.1311%9:HPI=PI/2

70 RD=PI /180

80 REN

90 GUSI'B *1PT B 2 K
100 GOSUB *PENST

110 PRINT :PRINT "#7% =349 9 Aya™ 20F3 R I
120 PRINT "#22* 32 AL AL 51~ return kev 2 #23k"
130 S$=[NPUTS( 1}

140 [F S8="R" OR 3$="r* THEN 90

150 GOSUB *PRICIR

160 REY

170 REM

{80 [F RO>3I0N THEN STP=2:STPt=2:STP2=178:GOTO 200

190 STP=10:5TP1=10:STP2=170

200 REM

210 REY 10° 3™+ /) 71
220 FOR A=10 T9 L70 STEP 10

23 [F A=80 THEN 320

240 [F A MCD 20 =0 THEN Cl1=3TP2:{2=5TP1:C3=-5TP:GOTO 260
250 C1=STP1:C2=5TP2:C3= STP
260 B=C1 $GOSUB =SPTR

270 LPRINT "M":X.Y

280 FOR B=Cl1 TG C2 STEP C3

290 GOSUB »SPTR

300 LPRINT "D":X.Y

310 NEXT B

320 NEXT A

330 LPRINT "M":X0.YO+RQ :LPRINT "D“:X0.Y0-RO
340 LPRINT "D":X0.YO-RO

350 REM 10° 2™+ / 4B
360 FOR B=10 TO 170 STEP 10
370 IF B Y00 20 =0 THEN C1=88 :C2=-88:C3=-2:GO0TO 330

380 C1=-88:C2= 88:C3= 2

390 K=X0=1C3/2)»RO=SIN(B=RD): ¥=Y0+RO»C0OS(B*RD}

400 LPRINT "ti":X.Y

410 FOR a=Cl TO <2 STEP C3-

420 [F A<>0 THEN GOSUB =SPTR:LPRINT "D":X.Y:GOTO 440
130 A=_0Q001: GOSUB *SPTR:LPRINT "D";X.Y:a=0
440 NEXT A

450 X=X0+(C3/2)=RO=SIN(B=RD) : Y=YD+RO*=COS (B»RD)

460 LPRINT "D":X.Y

170 NEXT B

480 REM

490 REM

500 LPRINT "J":2

510 REM

5320 REM 2* 1%%¢ / TqES

530 FOR A=STP!1 TO STP2 STEP S5TP

540 REM [F A MOD 10 =0 THEN 670

550 !F A MGD 2*STP =0 THEN C0=20 :C1=20+STP :C2=160:C3=S8TP :GOTO 570

560 C0=160:C1=160-5TP:C2=20 :C3=-STP
570 B=C0 :GOSUB *SPTR

580 LPRINT "M":X.Y

580 FOR B=C1 TO C2 STEP C3

600 GOSUB =SPTR

610 LPRINT “D":X.Y
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B B

NEXT B
NEXT A
REM 2° 2™+ / At
FOR B= 2 TO 178 STEP 2
REM IF B MOD 10 =0 THEN 810
IF B MOD 4 =2 THEN C1=88 :C2=-88:C3=-2:GOTC 690
C1=-88:C2= 88:C3= 2
XK=X0-(C3/2)%RO=*SIN(B»*RD) : Y=Y0+RO*0S(B*RD)
LPRINT "u":X.Y
FOR a=(C1 TO C2 STEP C3
[F A<>0  THEN GOSUB *SPTR:LPRINT "D":X.Y:GGTO 740
A=.0001: GDSUB #SPTR:LPRINT "D":X.Y:A=0
NEXT A
K=X0+(C3/21=RO=SIN(B*RD1:¥Y=Y0+RO=COS{B#RD)
LPRINT "D":¥.Y

NEXT B
RE
LPRINT "H"
END
REM ’ ~
RE:A H subroutines i
REM A d
RE
REM ~-----ommmem- B2 LIty
*#[PT
CLs
PRINT "822™ 1 amye PLF-A=P~ P4 F> zZadY3al Far
PRINT
INPUT "2ZFLA-2vb / nyA ( 0KRCIL.5 v "™:iRO
IF RO=>11.5 THEN PRINT "Nnx94 #FFI%™L /7. E24Fr" zZz)3Zz 3" (GOTO 890
PRINT
PRINT "“Fz2%%> J X-%Tk3% (" IRO+2:"<x<{"134=-R0: ™) "L INPUT X0
IF X0-R0<=2 THEN PRINT “t#*\) = MNIF™FZ JF>. T9(#+" zZz293p 2" :GOTO 920
[F X0+RCG>=34 THEN PRINT "% 2= NZF“$™2 JF°. 945+ 2279937 £3*:GOTO 929
PRINT
PRINT "Fzwil J y=-# tav ("IRO+2:"<y<{"125~R0:") "1 INPUT YO
IF YO+R0>=2% THEN PRINT "®Wx = NEF™F 2 /7. EOAF+™ zZz2732 £3I":GOTO 360
IF YOG=R0<=2 THEN PRINT "% = NER*$>2 JF™. EWFF" 22932 £37:GOTO 360
REM ’
RO=R0*100
X0=X0%100
YO=Y0=100
RETURN
REM ----------—- A% - Ak
*PENST
PRINT: PRINT
PRINT "1G® o™+ ./ &y 7 hZ AL F. A*Lodelwi® | = Bwd I
PRINT "2° 2a™F / £ 3 B2 A°% 3. AL QAbw2 2 = twd ZR3RT
RETURN
REM -----e-eemm-- primitive circle
*PRICIR
LPRINT “W":X0.Y0.R0.R0.500.8100
LPRINT "#":X0+R0O.Y0:LPRINT "D":X0-R(.YOD
LPRINT "M":X0.Y0+RO:LPRINT “D":X0.YD-RO
RETURN
REM -==------- 294 (a. b7 Xyb(xX.¥) A/ AL
*SPTR

REM a.bh : phi.thet
CA =COS(A=*RD):CB =COS(B#RD)
SA =SIN{A*RD):SB =SIN(B%RD;
SASB =SA =SB
PHI =ATNI(SASB /CB )
IF SASB <0 THEN PHI =PHI +PI
THET =ATN(SA /(CA *SIN(PHI 1))
R=RO%SIN(THET /2) =1.41421
Y= R*COS(PHI ) + Y0
X= R#SIN(PHI ) + X0
RETURN



